



(3) Next vector  $m_2$ :

normal component:

$$\begin{aligned}\tilde{b}_2 &= m_2 - b_0 \langle b_0, m_2 \rangle - b_1 \langle b_1, m_2 \rangle \\ &= m_2 - \underbrace{b_0 \int_{-1}^1 \frac{1}{\sqrt{2}} \cdot x^2 dx}_{= \frac{1}{\sqrt{2}} \cdot \frac{1}{3} x^3 \Big|_{-1}^1 = \frac{1}{\sqrt{2}} \cdot \frac{2}{3} = \frac{\sqrt{2}}{3}} - \underbrace{b_1 \int_{-1}^1 \sqrt{\frac{3}{2}} x \cdot x^2 dx}_{= 0} \\ &= m_2 - \frac{1}{3} m_0, \quad \tilde{b}_2(x) = x^2 - \frac{1}{3}\end{aligned}$$

normalize it:  $b_2 := \frac{1}{\|\tilde{b}_2\|} \tilde{b}_2$ ,  $\|\tilde{b}_2\|^2 = \int_{-1}^1 \left(x^2 - \frac{1}{3}\right) \left(x^2 - \frac{1}{3}\right) dx$

$$\begin{aligned}&= \int_{-1}^1 \left(x^4 - \frac{2}{3}x^2 + \frac{1}{9}\right) dx \\ &= \frac{1}{5}x^5 - \frac{2}{9}x^3 + \frac{1}{9}x \Big|_{-1}^1 = \frac{8}{45}\end{aligned}$$

$$\Rightarrow b_2(x) = \sqrt{\frac{45}{8}} \cdot \left(x^2 - \frac{1}{3}\right)$$

$\rightsquigarrow$  ONB for  $\mathcal{P}_2([-1, 1], \mathbb{R})$

(Legendre polynomials)